HA

%%%
i

1. ¥¥4
B4 e - EHER SR~E) b rorovBEREE RS
JBA T IR | = B S5 s N

2. EBEAR
1) FEF4

2) BITHIRM

EIRHR) N ERE ST PSR

S T 8H2TH
SFn 84 2H27H

185 HIH H

3) &FEtHM
REBIT, —MEE2 2 0 5IE - BHER (

RIBERIFOFEMERF 21T bDTH 5,

4) FEHBNA

- bRV IERE SR RET X
- T UAEaERERE —X
- CCT Vit —=(

SE~EH) BT 5 hxVE

NHE

35 h R KP A 5 bR ONWTEN LN TREGT 21T O,

- R

E+sZi@E SN




PR NER =

ull
P

¥4 | W - BB (BE~EH) bR VERIBERERG S ¥ BGES
H H UM E R faR B
THH - THE - FER BT #H = 4 H OB RR
EROEE R = 1 20, 049, 902
CE il T s i 2V 1 20, 049, 902
35 F R LVERIBE MR F X 1 11,206, 671 | b /VIEREE R maks
1 X
T VA ORI
1 X
CCTVEfiiax 7
1 X
[NV VIR e S
1 X
495 FrRVERIBEEHR R X 1 8,843,231 | bk RVIEH BRI
1 X
T VA BRGRER R ET
1 X
CCTVRR %7t
1 X
[NV VIR e
1 =
LA = 1 693, 870
Him GREHER) = 1 693, 870
Tavs = 1 525,000 | ¥TAE
1 =
Zofth = 1 33,450 | WAAFANEIC L D
1 [A]
NP A ER =« 1 135,420 | ABAERESHERL
1 S
TFEERATR RN ) D EE AN = 1 882, 144

-1- E+sZi@E SN



==
=]

m
2
%

¥Epss | - BB (BE~EH) bR VERGBER RS E BOES
H H FEEFATHRNC D305 8 2
THH - T - fER] B fr ¥ & 4 % OB ORR
FEE AT NS 2370 D B A = 1 882, 144
TEEIRA TR 2o D B A% =X 1 882, 144 | {XEFATHERINC D) B B HE A2
1 X
[R5 S =4 52V 1 890, 892
[ERES S 52V 1 890, 892
fi#e st v 1 275,892 | k¥ A0 (REFLE - @A - Bt
) 1 =
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 615, 000 %%Eﬁ%&ﬁzﬁk%
1 =
B (ZOtEmER <) X 1 22,516, 808
Z DA =X 1 11, 645, 555
— R A = 1 18, 387, 637
SRR = 1 52, 550, 000

-2 - E+sZi@E SN



